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H A A 1 2 3 4 5 6 7 8 9 10 11 12 R
A |H1/3 (m) 0.72 0. 58 0.71 0.70 0.77 0.64 0. 68 0. 40 0.58 0.73 0. 89 0.85 0. 89
KA 5
¥ T1/3 (s) 4.0 4.2 3.8 4.0 4.0 3.5 3.8 3.2 3.4 3.8 4,4 4.2 4.4
o (B-B) 23-22 20-18 14- 2 1-14 28-14 22-20 15-14 13-16 12-14 7-20 2-20 19- 2 | 11- 2-20
N A | HMAX (m) 1.27 0. 96 1.21 1.33 1.35 1.24 1.10 0. 69 0.96 1.34 1.50 1.39 1. 50
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B | TMAX (s) 4.0 3.1 3.9 3.9 4.1 3.7 4.4 3.5 3.8 3.9 4.0 4.2 4.0
H1/3| ¥ ¥ & 0.16 0.13 0.16 0.16 0.18 0.15 0.17 0.14 0.18 0.16 0.17 0.18 0.16
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(m) | AR 0.14 0.09 0.13 0.13 0.13 0.10 0.10 0.07 0.10 0.12 0.16 0.15 0.12
T1/3| ¥ ¥ {8 4.0 3.9 3.6 3.5 3.4 3.3 3.3 3.4 3.3 3.4 3.9 3.8 3.6
TEYE(R 22
(s) | EHHE 1.01 1. 04 0.88 0.69 0.71 0.84 0.83 0.92 0.78 0.81 1.02 0.94 0.91
b= S <1 (%) 100. 00 95. 24 86. 56 94.44 | 100.00 | 100.00 99. 73 99. 73 99.72 | 100.00 | 100.00 | 100.00 97.97
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